	№
	Вопрос/задание
	Варианты ответа

	1
	His name ___ Pete.
	a)  am  b) are   c) is

	2
	____ her name Nina?
	a)  am  b) are   c) is

	3
	____ you Pete?
	a)  am  b) are   c) is

	4
	____ you sixteen?
	a)  am  b) are   c) is

	5
	___ that Ann or Nina?
	a)  am  b) are   c) is

	6
	___ Pete seventeen?
	a)  am  b) are   c) is

	7
	That ___ her father.
	a)  am  b) are   c) is

	8
	___ I her mother?
	a)  am  b) are   c) is

	9
	He ___ not her brother.
	a)  am  b) are   c) is

	10
	Where ____ you?
	a)  am  b) are   c) is

	11
	Pete ___ a brother.
	a) have b) has c) have some

	12
	They ___  a sister.
	a) has  b) have c) have some

	13
	She  ___ English books.
	a) has  b) have c) has some

	14
	We ___ nurses in the hospital.
	a) has  b) have c) have some

	15
	You __ maps.
	a) has  b) have c) have some

	16
	___ you any Russian books?
	a) have b) has c) have some

	17
	___they any pencils?
	a) have b) has c) have some

	18
	Longer
	a) длинный 
b) длиннее
c) самый длинный

	19
	Coldest
	a) холодный  
b) холоднее  
c) самый холодный

	20
	Oleg _____ getting up.
	a) is  b)am  c) are

	21
	We ____ washing.
	a) is  b)am  c) are

	22
	They ___ having breakfast.
	a) is  b)am  c) are

	23
	___ he going to school?
	a) is  b)am  c) are

	24
	___ Kate sitting at the lesson?
	a) is  b)am  c) are

	25
	I can ___ drive a car.
	a) …  b) to  c) the

	26
	She ___ golf.
	a) to play b) play c) plays

	27
	I __ in Moscow Street.
	a) live  b) lives c) to live

	28
	My brother ___ in a shop.
	a)  work  b) works  c) to work

	29
	We ___ to school.
	a) go   b) goes  c) to go

	30
	Oleg’s brother ___ on a farm.
	a) live  b) lives  c) to live

	31
	We have____
	a) in our country many engineers at present
b) in our country at present many engineers
c) many engineers in our country at present
d) at present many engineers in our country 

	32
	Students visited____
	a) at the plant all the laboratories yesterday
b) all the laboratories at the plant yesterday
c) yesterday at the plant all the laboratories
d) all the laboratories yesterday at the plant 

	33
	В нашей стране много технических университетов
	a) This country will have many engineering universities.
b) There were many engineering universities in this country.
c) There are many engineering universities in this country.
d) Many engineering universities are in this country. 

	34





	В этом здании есть компьютерный центр?





	a) Is the computer centre in this building?
b) Is there a computer centre in this building?
c) Was the computer centre in this building?
d) Where is the computer centre?

	35
	Whose book is this? – It’s ___ book. I’ve bought it yesterday.
	a) mine b) my c) me d) I

	36
	This is very interesting news. I heard ___ from my friend.
	a) them b) it c) her d) its

	37
	В каком из предложений глагол to have употреблён в своём основном значении «иметь»?
	a) State schools have larger classes than private schools.
b) They have to pay for their education.
c) They have studied this subject and are prepared for their exams.

	38
	В каком из предложений глагол to be употреблён в  значении «есть», «являться»?
	a) He is a school leaver.
b) He is to leave school this year.
c) He is leaving school this year.
d) He is at the college now.

	39
	Какие из следующих прилагательных образуют степени сравнения с помощью слов more, most?
	a) short
b) specific
c) speedy
d) powerful

	40
	The Likhachev Motor Works is ___ than the Volzhsky Motor Works.
	a) older
b) old
c) oldest

	41
	The report on new fuel equipment was ___ of all.
	a) interesting
b) more interesting
c) the most interesting

	42
	Archaeologists found ___ wheeled carriage in the world in Mesopotamia – it was 5,500 years old. 
	a) old
b) older
c) the oldest

	43
	Transport is one of ... branches in the general system of the world economy.
	a) large
b) larger
c) the largest

	44
	В каком из предложений глагол to be употребляется для образования страдательного залога?
	a) His task was to design the new gearwheel.
b) He was to design the new gearwheel.
c) The new gearwheel was designed in this office last year. 

	45
	Укажите предложение, в котором не названо лицо, совершившее действие.
	a) This scientist invented a new pneumatic system in 1989.
b) A new pneumatic system was invented in 1989.
c) Inventing a new pneumatic system he ran into a lot of problems.

	46
	Отметьте предложения, в которых нужно употребить пассив при переводе на английский язык.
	a) Открытие электрона было очень важной вехой в науке.
b) Новая модель этого автомобиля будет выпущена в следующем году.
c) Много лет инженеры работали над созданием этого аппарата.
d) На патент этого изобретателя очень часто ссылаются в технической литературе.
e) Сколько студентов обучается в вашем техникуме?

	47
	Theory ___ always ___ by practice.
	a) must ___ support
b) must ___ be supported
c) has ___ supported

	48
	Students of our technical school ___ in practical work during summer vacation.
	a) engage
b) are engaged
c) will engaged

	49
	In the near future these types of cars ___ everywhere.
	a) will employ
b) employ
c) will be employed

	50
	Найдите русское предложение, при переводе которого нужно использовать глагол does.
	a) Кто работает над этой проблемой?
b) Этот завод будет производить гораздо больше автомобилей через пять лет.
c) Когда обычно начинается лекция по химии?
d) Эта лаборатория не занималась конструированием новых автобусов.
e) Используется ли новый тип двигателя на этих автомобилях?

	51
	Найдите русское предложение, при переводе которого нужно использовать глагол do.
	a) Кто разработал эту проблему?
b) Производство двигателей в прошлом году на этом заводе значительно увеличилось.
c) Когда вы обычно работаете в лаборатории?
d) Кто испытывает этот двигатель?
e) Где испытывают этот двигатель?
f) Используется ли новый тип двигателя на этих автомобилях?

	52
	Определите, в каком предложении глагол to have является вспомогательным для образования формы Perfect. 
	a) We have many laboratory tests this year.
b) We have made many laboratory tests this year.
c) We have to make many laboratory tests this year.

	53
	Определите, в каком предложении глагол to have является вспомогательным для образования формы Perfect.
	a) Old automobiles had no amenities for drivers.
b) He had already finished his experiment when we came.
c) He had to repeat his experiment once more last week.

	54
	Определите, в каком случае говорится о законченном действии.
	a) He is collecting the necessary material.
b) He has to collect the necessary material.
c) He has already collected the necessary material.
d) He will collect the necessary material.

	55
	Определите, в каком случае говорится о законченном действии.
	a) I was finishing the experiment.
b) I have finished the experiment.
c) I will finish the experiment.
d) I have to finish the experiment.

	56
	Выберите нужный эквивалент для предложения: 
By 1972 the total number of automobiles in all countries had exceeded 250,000,000.
	a) В 1972 году общее количество автомобилей во всех странах превышало 250000000.
b) К 1972 году общее количество автомобилей во всех странах превысило 250000000.
c) К 1972 году общее количество автомобилей во всех странах должно было превысить 250000000.

	57
	Выберите предложение, при переводе которого употребляется форма Perfect.
	a) В 1928 году в Советском государстве был построен 841 автомобиль. 
b) К концу первой пятилетки Советское государство построило 23800 автомобилей.
c) Дореволюционная Россия выпустила только 10 пассажирских автомобилей.

	58
	Какой глагол выражает умение?
	a) must
b) may
c) can
d) to be (to)

	59
	Какой глагол выражает долженствование?
	a) can
b) must
c) may
d) to be allowed (to)

	60
	Найдите эквиваленты глагола must.
	a) to be able (to)
b) to be allowed (to)
c) to have (to)
d) to be (to)



